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()

1 format_version 3 XX
2 send_time 17 yyyyMMddHHmMmMssSSS
3 consortium_id 6
ID
4 person_information
5 person_id 20
ID
6 healthcare_informati
on
7 weighing_ scale
8 observation_time 14 yyyyMMddHHmMmss
ss 00
9 body_weight 6 kg
XXX XX
10 body_fat 5 %
XXX.X
11 model_ 50
manufacturer_code
12 model_number 50

29




13 7 production_ 50
ID specification_serial
14 7 input_method_ code 1 0
1
15 7 origin_of_time_code 1 0
1
16 7 update_time 17 yyyYyMMddHHMmMssSSS
17 6 blood_ pressure
18 17 observation_time 14 yyyyMMddHHmMmss
ss 00
19 17 systolic 3 mmHg
20 17 diastolic 3 mmHg
21 17 pulse_rate 3 bpm /

30




22 17 measurement_ 200

position
23 17 model_ 50

manufacturer_code
24 17 model_number 50
25 17 production_ 50

ID specification_serial
26 17 input_method_ code 1 0
1
27 17 origin_of_time_code 1 0
1

28 17 update_time 17 yyyyMMddHHMmMssSSS
29 6 activity_monitor

31




30 29 observation_time 14 yyyyMMddHHmMmss
00
31 29 steps 5
32 29 walking_duration 4
33 29 moderate_intensity 4
activity
34 29 calories 6 kcal XXXX.X
35 29 total_calories 6 kcal XXXX.X
36 29 model_ 50
manufacturer_code
37 29 model_number 50
38 29 production_ 50
ID specification_serial
39 29 total_active__ 4
duration
40 29 input_method_ code 1 0
1

32




41 29 measurement_ 2 10
position_code 11
20
21
30
31
40
50
42 29 origin_of_time_code 1 0
1
43 29 update_time 17 yyyyMMddHHMmMssSSS
44 4 health_checkup_
information
45 46 HbAlc | hbalc HbAlc
46 47 observation_date 8 yyyyMMdd
47 47 HbAlc | hbalc_value 4 % XX.X
48 47 input_method_code 1 0
1

33




49 47 measurement_ 6

method_code
50 a7 value_criteria_code 1 0 1
51 a7 test_lab_id 12

ID

52 47 update_time 17 yyyyMMddHHmMmMssSSS
53 46 blood_pressure HbAlc
54 55 observation_date 8 yyyyMMdd
55 55 systolic 3 mmHg
56 55 diastolic 3 mmHg
57 55 pulse_rate 3 bpm /
58 55 measurement_ 200

position
59 55 input_method_code 1 0

1

34




60

55

test_lab_id

12

61

55

update_time

17

yyyyMMddHHmMmMssSSS
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()

2]
~

1 ID 6 1
2 100
3 1 1 0
4 17 yyyyMMddHHmMmMssSSS
5 17 yyyyMMddHHmMmMssSSS

5]

~
1 ID 6 1
2 ID 20 2
3 100
4 8 yyyyMMdd

dd
00
5 1 1 2:
6 5 cm XXX.X
7 7 7
8 2
9 30
10 1 0
1
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Ad

11 3
XXX
12 3
XXX
13 3
XXX
14 3
XXX
15 3
XXX
16 3
XXX
17 50
18 1 0
1 2
2
19 1 0
1 2
2
20 6 yyyyMM
21 8 yyyyMMdd
22 8 yyyyMMdd
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Ad

23 2 11 12 13
14
21
22
23
30
40
24 2 10
11
20
21
30
31
40
50
o5 1 1 0
26 17 yyyYyMMddHHmMmMssSSS
o7 17 yyyYyMMddHHmMmMssSSS
T
~
1 ID 6 1
2 ID 12 2
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Ad

80
ID
999999999999
2
ID
999999999999
1 1 0
17 yyyyMMddHHMmMssSSS
17 yyyyMMddHHmMmMssSSS
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T
~
1 50
2 50
3 2 10 11
12 20
30
4 100
5 100
6 8 yyyyMMdd
7 2 10
20
30
40
Bluetooth
(
50
60
8 2
9 1 1 2
3
10 13 JIS B 7613 JIS
T 1115 JIST 0601 -1
11 IEC 13 IEC 60601 -1-2
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T
X
12 2 10 20
13 50 10
11
20
21
30
31
40

50

14 50 50 ¢
100 ¢ 200 g

15 50 g *

200 g
16 50

1 mmHg
17 50 g +3

mmHg
18 50

+3
19 100
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20 1 1 1 0
21 1 17 yyyyMMddHHmMmMssSSS
22 1 17 yyyyMMddHHMmMssSSS
o
~
1 1 50 1
2 1 50 2
3 1 4 3
4 1 2 10 20
30
5 1 50 10 20
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32 33
6 1 1 1 0
7 1 17 yyyyMMddHHmMmMssSSS
8 1 17 yyyyMMddHHmMmMssSSS
HbAlc
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03 99
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JSON

"format_version":"1.0",
"send_time":"20160830131507717",
"consortium_id":"100Z",
"person_information":
[
{
"person_id": "X201",
"healthcare_information":

{

"weighing scale":

{

}
1,

"blood_pressure":

[
{

}
1,

"activity_monitor":

[
{

"observation_time": "20160707063211",
"body_weight": 60.5,

"body_fat": 24.6,

"model_manufacturer_code": "AAA",
"model_number": "B-12345",
"production_specification_serial": "987A6543B",
"input_method_code": "0",
"origin_of_time_code":"0",

"update_time": "20160707063211000"

"observation_time": "20160708063211",
"body_weight": 60.5,
"model_manufacturer_code": "AAA"
"model_number": "B-12345",
"production_specification_serial": "987A6543B",
"input_method_code": "0",
"origin_of_time_code":"0",

"update_time": "20160708063211000"

)

"observation_time": "20160707063211",
"systolic": 151,

"diastolic": 87,

"pulse_rate": 95,
"measurement_position": " "
"model_manufacturer_code": "AAA",
"model_number": "B-12345",
"production_specification_serial" "987A6543B",
"input_method_code": "0",
"origin_of_time_code":"0",
"update_time": "20160707063211000"

"observation_time": "20160707000000",
"steps": 12345,

"walking_duration": 45,
"moderate_intensity_activity": 25,
"calories™ 1050.5,

"total_calories": 3500.4,
"model_manufacturer_code": "AAA",
"model_number": "B-12345",
"production_specification_serial": "987A6543B",
"total_active_duration":1440,
"input_method_code": "0",
"measurement_position_code":"30",
"origin_of_time_code":"0",

54



]
5,
"health_checkup_information":

{

"hbalc":
[

{

}
1,
"blood_pressure":
[

{

}

"person_id": "X202",
"health_checkup_information":

"hbalc":
[

}
]

"blood_pressure":

{

"update_time": "20160707063211000"

"observation_date": "20160807",
"hbalc_value™ 5.8,

"input_method_code": "1",
"measurement_method_code": "TESTCD",
"value_criteria_code":"1",

"test_lab_id": "Z12345",

"update_time": "20160707063211000"

"observation_date": "20160807",
"systolic": 151,

"diastolic": 87,

"pulse_rate": 95,
"measurement_position": " "
"input_method_code": "1",
"test_lab_id" "X123",

"update_time": "20160707063211000"

"observation_date" "20160807",
"hbalc_value™ 5.8,

"input_method_code": "1",
"measurement_method_code" "TESTCD",
"value_criteria_code":"0",

"test_lab_id": "Z12345",

"update_time": "20160707063211000"

"observation_date" "20160807",
"systolic": 151,

"diastolic": 87,

"pulse_rate": 95,
"measurement_position": " "
"input_method_code": "1",
"test_lab_id": "abcd123",
"update_time": "20160707063211000"
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